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SOCIAL SC'IENCE

(sttor), Political Scmnce Geography, Economics
and " Disaster - Management) |

(Rev. Course)
[FOR REWSED COURSE CAND!DATES ONLY]

| Time : 3 Hours] | | [’\laxlmum Marks 100

- NOTE :— The questions in the question paper are based on revised course

(SOCIAL SCIENCE), Social Science-1 (New Course i in Single

. Language and Old Course in Three Languages) and Social | H
Science-II (In Three Langunges) The candidates are adv;sed |
e ~ to attempt the relevant course meant for them. “Ho\nc\cr, o
L . SOCIAL SCIENCE-II is .compulsory for the students E
- attemptmg SOCIAL SCIENCE- (New Or Old Course)”
. : ; Candidatzs w ho may attempt the questmns partly from “New- |
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Candidates are also adwscd to.rc::ord ‘NEWICOUI'S.C” or “Old |
Cuurse" as the case may be, on lh'c front page of the answcrf_ .
boak.

Section-A

(HISTORY)

(Long Answer Type Questions)

’ ]'. A"S“ﬂ' the follo“:ng quesuons in about 100-150 words ‘each:

_,/!EQ’HOW was the history of nationalism in 'Britain "unlike the rest

of Eumpc ?
Or

o

- Who were. Marianne and Germania ? What was importdncc of

. -"\'

" ‘Way in which they were portrayed ? - .

- O

e e i 9 AT e
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(3)
- (b) Why did the political leaders differ sharply over the guestion of -
- separate clectorates ? .
or =
Discuss the Salt March to make clear why i¢ was an effective
symbol of resistance against colonialism. 6
(Short Answer Type Questions)-
2. Answer the following questions in about 60-80 words each :
- S T T I T O S T
_ . L~ ] L :
_Aa)” Explain.the causes of - the Great.Depression.
Or

t

b

- | 1,v;i1efa;,'ﬁé’t§ to explain the effects of Rtindcrp:st to Africa. 4

XWZPA16-10005-Z = - - . T Tum0ver
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(8} Explain what is meant by proto-industriahization ?

-

Or

What led 19 major expansion of Bombay's population in the

muid-nineteenth century ?

©) , _ . C
Discuss how Print culture assisted the growth of nationalism in

India

Or

Descnbe the changes 13 pnng technology in last hundred years

A eplan they Lonsequences in detail,

(Vers Short Answer Type Questions)
3. Answer the following questions in a few words or in 3 few sentences

', ,xwmm-xoons-z
In—S—Z ;'-.:g;_

,.!, . .
- e
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e S

; . IR '_ | | ‘(gyjective'Type Qtiestlons)

' 4. Do as dlmClCd . 'q':r Lo,

(,) thch of the followmg was an exlrcn'ust leader .?

(a) Bal Gangadh;':tr Tilak |

(b) Lala Lajpat Ral o

" (¢)- Bipin Chandra Pal |

(d) Dadabhai &aoroji " (Choose the correct oné) 1

(i) The great depres‘s..ion had no impact on the Indian economy.

L
(True/False) 1

(i) R movement of expansion of Indian industries,
. ~ (Fill in the blank) 1

(iv) A metal frame in which Eypes are laid and the text composed,

(Give one word substitution) 1

{ XWZPAI6—10005-z S Tum Ove
. K57z R -
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. Section-B _ . S

(POLITICAL SCIENCE) '

i - v SR ' o/
(Short Answer Type Questions), :
'. 5. An ’ . . B ' o | -
j swer the following questions in about 60-80 words each :

=y 1

a
/( ) What are the different forms of pover-

d : .
€mocracjes ?:Give an example of each “type |

" '
. »
- | mmu and

_ Kashmu- State ?

(b) °

XWZPA]G—-—-IOOOS ~Z
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or ' 4 - ) ) . ) . l_ 1: . .. . 'I;l:l
. 2 '

A What is lhe status of womcn $ rcpres ta | |
eh tlon in India
- | a's chnslauve

[}
L]

Bod:es?
...‘,- . .‘ | 4

(c) Give the difference betwéen- I’rcssﬁi-e group and p},,i"f al
' itic

party.

Or

f1-
o |
/ Trace the origin of party system in Jammu and Kashmir

State. 4
(dy/ What are the conditions under which democracies accommodate
social diversities ?

Or
~.How can democracy be sustained in India ?

 “Tum Over
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. "~ (Very ;Sho_rt Answer-'_l‘ype Questions) : | :

[

6.  Answer ih? following question in a few w;nrds or a sentence OF a5 “
may be required : N o "'.*,'-'_- | ?
|
When does a social difference become a social division 2 [} 2
. '&
) (Objective Type Questions) :
7. Do as directed : Ak
(i) According 10 Election Commission of India, therg are

National parties.

T RSP et =

(ii.)' Democracy stands much suﬁ.crior to any other form of

4
{

i‘_ - 1'
!
¥

govcfnmcnt .in' prﬁmbting dignity and frf-.edohm of individuals. l

ZPA16—100 e rﬁe!Falsé’_
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S 9)
S Sncuon—C’

(GEOGRAPHY)

o (Long Answer Type Questlons} Vil o

g. Answer thc follo\ung quesuons in about 100—150 words each

(a) Dcscnbe lhe main l‘eaturcs of Ind:an Agnculturc
TN

. jfl

or

Explain various ‘technological ' and institutlohal * reforms * which

led to green. and \i‘hitc rcvolut,ion in. IndiatI

(b) Why is Iron -and Steel mdustry locatcd in pcnmsular Ind.la

only ? Gne reasons. - S

Or

Describe briefly the distribution of Silk Textile Industry in

India. S TR TN e
' .' ' ' . © s

2
(Short Answer Type Questmns)

9 Answer lhc follomng qucsnons in about 60-80 words each :

(a) Give the distribution of alluwal and red smls in India.

Or ..

I"., L ¥ N
th ine Soil. How is . soil erosaon ‘caused ?
e '; i* i TP

o

xwzmm_]ooos-z (L. ..,;.1 3 b g
K-s_z L C
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(10

(b) Exammc the 1mportancc of river valle)‘ 1'-'“’."5‘:ts m the

|

development of hydel powcr and xmgauonal facdmes in India.

car .
- - n
R s

{

by S o

Or 3

- o

- . 1 ) J‘
Describe the methods of forest conservation. 4

() Map Work :
:In .af_gi}r.en oxznt-line map of Allnfiia, _Indi-cate. fou_rl Coal ﬁelds.
Or
Indicate four Oil refineries in a given out-line map of India. 4

(Very Short Answer Type Questions)

S S O ST B -'
10. Answer the following in a few words or few sentence as may be

required : .

{a) Distinguish between metallic and nonmetallic minerals.
(b) What. are national highwéys, R

o xwzmlﬁ—moos-z
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Sy
- (objcctli'e"l‘ypu Questiu'ns)_: .

ST

3 11, Do as-directedi:i: i+ .

','-..(j)"'- Which one of the following is a renewable resource 7 |

< (a) 'Cdal

TS T

(b) Iron ore

TR M p—

(¢) Petroleum _
: (d}‘ ~F§rcsts (Choose the correqt one) 1
(i) The National Animal of I.ndlia is
; (a) Elephant

(b) Tiger
(c) Lion

(@ Deer

* XWZPA16—10005-7 “itw o Tum Over .

- (Choose the éorre'ct one) 1
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L - -

~ (iii) Bajra is a Kharif _crop:,. SR | (TWC(F“!“)';_'
(iv) Manali nnd. I'D;ld is lhe'high‘cs't road of - the world.

s s - .
.+ - (Fill in the blank)

(v) More than ... daily newspapers are printed in India in -

Sy

 different lang;.lages. | | ~ (Fill in the blank)

= " i - - . . " ' B .
- - = : . - e . -
b i - B . - ° ' e . " |
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o Section-D o
LT S
~ (ECONOMICS)

P .(Long. Ansﬁer Typé :Queslions)

" 12. Answer the following guéstion in about 100 to 150 words :

g P W iy LW o A TR pae o

: [geq;ify major agriculture crops grown in Jammu and-Kashmir,

s o Distribute these crops according' to Kharif and Rabi Seaé.on.

T

g ' Or

Give the major reasons of slow growth of handicraft and hand lobm

*a . = - s
R T N e o]

N
N

industry in the State. | 6
(Very Short Answer Type Questions)
Answer the following question in a few words or a few sentences

or as may be required.

£ L T el e -
. B .
I T T P S S
LR .

; 13."_ How employment potential in Jammu and Kashmir can be increased ? 2
XWZPAI6-10005-Z e ey, Tem OV

Vel
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NGB

(Objective Type :Ql‘n_!stlbllﬁ], '
- : ’ é;-" ;E;i.!’;"‘.l;-] .
) - 14, Do as directed : o
(i) Paper machine handicraft is produceed N wreseesenres +
(Fill in the blank)
(i) Gumpas are situated in Jammu. (True/False)
) = :
o XWZPAI6—10005-Z - SR

.-ij_f I::K-5T_Z |
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~ Section-I
I R :",’ a

(DISASTER MANAGEMENT)
v erf:? S;m't1 Ansi'werx 'j'}'pe:- Q:Icqt fﬁns)'

15 Ansv.er the followmg quesuons in a fcw words or in a fcw semence. o

-
.o

i
':. '.:Y' Jt."jf l-'.r:.:"l.-‘:i"!.l
! or as may be required : | L

_I - . Jl v .1.!

.
-
L B T T Y -y

o+ (a) ;What is,a safe construction practice ? .2

oy T e A

'/‘bf- How will you“stop the bleeding ‘in emergency ? | 2

g | (Objective Type Question)

)
- . IS P P -
.;16. Do as directed : - ST . S
,'L :‘: . . I LR
g Kashmir falls in Selsrruc Zones IV and V that represents high and .
] ~ AL PN . o :
E tery h:gh nsk of carthquake dlsaster. | o (fr{IFalse) 1
;-’;l: ol R B ._ e . :

-=xszA16-10005-z g
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Time : 2 Hours] " [Maximum Marks : 60 |
(ENGLISH VERSION) - .
. Section—-A .
(HISTORY)
(Long Answer ;I‘ype- Questions) .
I. Answer the following questions in abaui 100-150 words each |

| (a)

( 16 )

XWZPAI6
- 10005~Z
SOCIAL SCIENCEM-I
(stmrv and szzcs)
(Single Language)
(New Course)

Give mvo examples from history to show the impact of

- technology on food avuilhbiliiy. What is meantr by Bretton

Woods Agreement ?

anma--woem (New)

K-—-‘»’-—Z

s,

»
Tt

T ST VN



‘underground ;:riliéised ?2. : o g

- (b) Mani i ' prais
(b) In_Luther was ip favour of print and spoke out in praise

of it. Give reasons. -

. Or .- . .. . ) .
What do you-know about : | d | ._
("_’) Ems'mm's idea of the printed book. . | ‘ -
(b) The Vernacular Press Act ? | - 8

(Short Answer Type Questions)

to

Answ& the following questions in aﬁout 60-80 words each :
: (;;) | th were Lﬁr_iannp and Germania ? Whgt was the importance
~ of the way. in which they were po;tray}e_fi ?
| Or

How was the history of nationalism in Britain unlike the rest

~of Europe 7

XWZPAIG-10005-Z (New) 0 TTr o TR



('-18 )

: (b:) E;C;;’]ai“ “‘_h; growth of nationalism in the colonies is'linkcdi.lo
| - an anti-coloﬁial movement,
.TOrl
Write a Newspaper report on tﬁe'- Simon ' Commission.
(€) "Write a note on the role of women in nationalists strugglés.
Or |

Why did political leaders differ sharply over the question of

separate electorates ? S A

(d) Explain, what is meant hy' proto-industrialisation.

{

:Or

Why did mdusmal producnon increase dunng the First World
War" o T

(Very Short Answer Type Questmns)

3. Answer the followmg queshons in a few words or in a few sentences

each:

() What do you know about Poona Pact of 1932 ?
(b) Whal arg MNC’s. ?

" .v_'-.xwzmm-woos-z (Newy . = e
*';K-5-Z S A T



IR ld' )
(Ohjeclhe T}'De Questlom) Lo

4, Chonsc the con'ccl answer from out of the four allernanvcs 81""3“ o

a"ﬂlﬂSI CﬂCh of lhc Follomng nems and wnt;: it in y-:;ur ans;wer-
N book ; | O |
(i) | Who lau:‘:nchcld the Civil Disobed'ience- Movgn.:.:cn’t ?'_
(@) Jawahar Lal Nehru
(b) Subash Chandra Bose
| /{?j' Mahatma Gandhi

(d) Lal Bahadur Shastri

(i) Bombay had become India’s film capital by :

(@ 1923
o 1924 .
.(c) .1925' |
) 1926 o

. .

X“ ZPMG—IOOOS-Z (Ncw)
K-5.z -



: ’ ' . h ‘ . ' : ‘ _Lh” r
FRE ‘“') wh“ “TOic and pubhshcd Chhote Aur Bade Ka Sawal m
1933% o EO = ;, ..
e e .Ih.‘:';.’,:' ' "'"'.'.; -," ;
(a) ,J)oubn Phulc . ;
_ 1Y Y Fib R
- e e o4

(c) Ra]a Ram Moh:m Roy
o o l. A P Yo .

(c) BR Ambedkar

(d) Kasiﬁixiba " t -
(iv) “13'0 agrced tté) _'_lj;'.\'isc Press -Laws in 1-83_'5' -'?.-_‘r .
(2) William Bentinck -
(b) Mountbatten
(c) Comwallis

(d)- Alexander:Read -

xmmw—looos-z (hcv«) |

K-S-Z
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(Long

‘- -
- -a ad
i

W A | ;
. Ansucr the followmg quesuons in ahout

Answcr Type Questmns)

‘l
l-

(K

4 s
L]

a8 B

100-.150 wofds L

o |t ’..!.h- l j . lf ‘jl-',‘@' !
How is PUblIC opmlon formed and cxpressed 2 ' -
' : : _ ': T o fl Wt |'-‘1‘ H:I‘ ' - v
. . " :t; " l-
. Or e
S, :-"-':-'.ff.é; U T
Descnbe the vanous steps in_ the eleéuon process LT g
V ‘! ;‘.; . il. J -
- ' o ll.:'f:’ :1"1:1 i .'1:-? ":': "-'.E
- (Short: Answer Type Questions) - - -

6. Answer the following questions-in abbuti§0-80.¢- véldrds_ "eac;h..:

() Why does coalition arisci.in-mul'ti-pai-t'y;.sy'stéms;?fl -

-

f_ What m the main forces that’ dmdc
XWZPA16—10005-Z (New)

. .
‘--l'.-!al ,
<7

L}

" e ]
"_‘- - "1l. ;
Indlan Natxon
G -
.-'-’- A '
.r“-. .f'. f! r i: T\lm Ovcr
AR ? . *"_.
RN A L L (R L



() In what ways the ‘communalism’ obstruct the fun_Cl_ioning of - A

democracy in our country 7

Or

What were the principté of the Pancha Sheela? ' 4

(Very Sh(;rt Answer Type Questinn!;)‘
7.  Answer the following éucstinn_in a f;:w'words or in a few sentences:
What were the political cf(ects of British colonialism ?
'(Ohjeétive Typ'e- Qﬁesﬁons)
‘8.

Choose the correct ‘answer from out of the four altemnatives given

against each of the items and write it in your answer-book *

(i) -The Second World War ended in ;-
(@). 1942 AD.

W 1943 A.D.

. XWZPAI6—10005-Z - (New)
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BT S R s e 3

" et , .
. LN
- o * * [

!.23)

IO

ld) 1945 ,\ D

\\.h ¢h unc 0(‘ 1¥1¢ fsvllux»:ngatnuﬁ;r;cs*
'Sccumy Councx! 3?

(@ Germany

{b) France

()  Yugoslavia

-i o
& L
-

(d) India

x“zmm_-moos--z (Ncw)

K-5-7.
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 Time : 2 Houry)

lersé)
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[Maximum Marks @

¥y ,?'

(ENGLISH \’ LRSION)

Sect imt-u\

(HISTORY)

(Long Answer

| :A':l., Ansnu: thc funmum qncsunas
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Or .

Discuss the ; ) C
L | . .
S 'mpact of Russian Revolution on the world. =~ 8

(b)

G A ¢ the basic cauges of the Revolt of 1857 ? Name the

‘mportant leaders of the revoj

) _ Or
. .

Describ.e the factors which led 1o the formation of the Muslim

| ' ~ League. When and where was the First Session of Muslim

N League held ? - 8

" (Short - Answer Type Questions)

2 Answer ollowing questions in about 60-80 words each :
(a) Explain the Massacre of Jallianwala Bagh.

Oor

i" ‘ " Describe ‘Meerut and Lahore Conspiracy Cases'. o 4
'XWZPA16—10005-Z (Old) o TumOwr
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ymon

T | ‘Commission 7

Ty Wi 1 aaainst O
") How did (e Indians protest A3

Or
Is.
: Duscnbv.. Su Stafford Cripps proposals:

(c) Describe the role played b

- | . shms
spread of education and awaLcnlﬂg Of Mu

-Or-
: How- did modern educatio
the 19th century 2
(d) Who was the founder Ram,Krishan :Mission: ? What was his
contribution towards Indian society ?
- Or
Name some Newspapers which- smrted.- i.n 19th

- Century and

which onc coming out even today,

XWZPA 16—10005-Z " (Old)

y Sir- bayyld Ahmed Khan in lhc |

n help in the awakening of India in ;

E
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(\m bhort Angy. |
' “er

Ms“cr the fm]u“m . .vae Questions)

. ) . n a ' TS - ’ .} .
| scnifnccs-_ _ _. " few hwords or in a few

What .
(3} W 35 ‘hﬁ n]m

{b) Name the leaders of

._Congrcss.

'(Objecti\'e Type Que;tiom)

Choose the correct
answer frum out of the four altcrnamres given

against each Of lhe following items and write 1t in your answer-

hook :

(i) Who started Aligarh Movement ? o
| (a) Jawahar Lal Nc.h.ru

| (b) '. Sir Sayjid Ahmed Khan
- (c) ‘f\bul Kalam Azad

" (d) Badruddin Tyabji

& - .

" Tum Over



(i) Samvad Kamudi was P

(.28 )

- : .

(a) Swami Dayahand S:u'aswali

() Raja Ram Mohan RoY
(c) Swami Vivekanand

(d) Rabinder Nath Tagore

(iii) The Entire Civil Disobedience Move

(@) 1930 AD.

(b) 1931 AD.

yblished DY *

~(c) 1932 A.D.

(d) 1934 AD.

 XWZPA16—10005-Z (O1)

. K-5-Z
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& 1921 AD.
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Section-B .-
(CIVICS)
(Long Answer Type Questions)
5. .Answer the follo-wing question in ‘about’ 100_156 ts'.{:(irds' s
What are the differences I-Jetween direct and indirect dngf_-'mcy ?
Oor
What is an Election Manifesto ? What is its use ?
| (Short Answer Type Questions)
6. Answér the fo]lowing.questions in about 60-80 words ;e:Llch :
(@) Why are parties so imponant in Democratic Government ? |
Or

What are the main forces that divide the Indian Nation ?

(b) In. what ways does communalism abstruct the functioning of
1=

democracy in our country ?

. XWZPA16-10005-Z (Old)

K-5-Z
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h . . Or
What" w .
W Cre the objecuves r

-Organisatjop, 9 o 1€ formation of United Nations

( | 4
¢TY Shory A
| - TTSwer Type Questions)
;  Answer the following Question ;
M 3 few worgs or in a few sentences :
t is the m
Wha N€aning of Non. -alignmeny ? 2
(Objective Type Questions)

g. Choose the correct answer from out of the four alternatives given
against each of the following items and write it in your answer-
book :

(i) In terms of size India’s largest neighbour is
(a) Pakistan’
(b) Sri Lanka
(c) Nepal
_ 1
(d) China
| . .Tum OQver-
szpms-looos—z (o . S

K-—5-Z N , o
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(u) Bangladesh betﬁaﬂ‘tﬁ ﬂ“ I dcpf )

- -

() 1970 A, D

1;;" . l’i vi ! i)

£b) 1971 AD.

* ¥ R
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SOCIAL SCIENCE-II
(Geogmphy) | -

_ (Thrf,’(jj‘. anguages) _

[Maxlmum Marks ¢ 40

Time : 1 Hour]

NOTE :— So oI B com '
Social Sclence-11 Is compulsory for the students, attempting
Social Science-I (New Or Old Course).

(ENGLISH VERSION)
~ (GEOGRAPHY)

| (Long Answgr Type Questions)

1. __ Answer the following questions in gboul 80-100 words cach.
(a) What is Resourcé Planning ? Write a note on the Consg;vaﬁon

of Resources.

Or
- o What ﬁfc the various. sources of Water 9 Discuss ‘{_ts uses. 8
o Tum Over
 XWZPA16—10005-Z .
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| _.,(b) What are Cash Crop-s ? [);sungu:sh between Tea and C()ffcg :

Cultl\r‘almn | N T ._.1
C Or
-="'_r S *4

- What is the lmpunancc of Cotlon 9 Explain the cundiuon of

- growth and area of producnon in lndm | R
(ghorl Answer Type Qucstinns]
2., Answer lhc followmg questions in- about 60-80 words for cach

(@) Distinguish between: Energy resources and Mineral resources,

r -

Lo ~-.*o"'r R
Describe the distribution of ‘Iron Ore in India.
. Y- I TSI PR et
(b) Describe in detail conventional source of Energy.

Ly le % ige

.. or

:Dés;criﬁe the i'-mb'oortéﬁce_ and distribution of petroleum in India. 4

: (c) .What is the significance of Mineral based Industries in India? -
Or | |

- Dcscrlbe thc dlstnbutlc;n :'t.)f ‘;froﬁ and‘ Stecl 'In'dl'istﬁes in I_ndi‘q', ..4

: *'xwzms--woos-z I ;



‘. (d) Distinguish between Mass Communie,c
F I inguish between - unic ation, wdn,
_i or E _ _“?‘Jl"l_
| What arc' the problems “f Railways umy ¥
: {Vcr) Shurt Answer T)pe Q“ﬂtmm; S %
3. Answer the following Ci“"’“""s in a few WOrd; o S
‘ . u‘ *ﬂtm“
+each:
. - (a) What is meant by Pedogenises _? ,
"-#. (b) What arc hcavy Industrics ? ,
(Objective Type Questions) |
4, Choose the correct/most appropriaté answer out of the following
four alternatives given agamst each item and wite it )ou: answer-
- book : | o
ot W8 .' . . .
(i) Which is the main source of Irrigation in India ? |
| ,'.(a) Canals
"'_'-'(b)" Tanks
(c) Wells K
L T T I Y
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k(].n What h Ihe m""“ Pmblcm'in lhe" prc'.f.cnt'lndustﬁa!’i'sat_iaﬁ'zﬁf
lnd:a? - PR L G

(a) Rurnl

(b) Capitfnl; |

() Tmnsjmrt -

(d) None of these |
(ii)) In which area Roads are best developed ?

(a) Eastem Indla

(b) Wcstcm India
o (c) Ccntral Indm
S (d) Southern Indla
(w) What IS thc hclght of Manali-Lch road ?
Ea) 1270 metrc o
(b) 2270 metre, o
:-(P)_' 3370- m""f“' | '; o
('d)'__' 4,2{70'me‘tre‘_l e o
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